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Quiz #1: Combinational Logic Design

Closed Book!

K-Maps and Canonical Forms

F(A,B,C,D) = Sm(0,2,4,6,8,9,11,12,13,15). 

Fill in the K-map for this function:






Using the K-map, calculate F in minimized sum of products form:


F(A,B,C,D) = A’ D’ + A D + C’ D’ or A’ D’ + A D + A C’ (6 literals)

Using the K-map, calculate F in minimized PRODUCTS OF SUMS form:


F(A,B,C,D) = (A + D’) (A’ + C’ + D)  (5 literals)
In terms of literal count, which is the SIMPLEST implementation, sum of products or product of sums, and why?

PoS, fewer literals (5 versus 6)
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